


393 ha |

17 21 17 21 |
10 19
11 21 14 20

350,000 15 385,000 21
92,000 15 100,000 21
620,000 15 650,000 21

20 18 3.0 21







2,9630 | 1,203.4 0.406
L=2126 17 17 17 17 453 453 453 453
L=133.74m 17 17 17 17 232 232 232 232
L=66m 17 17 17 17 42.0 42.0 42.0 420
L=342.6m 17 18 17 18 63.7 63.7 63.7 63.7
L=920m 17 21 17 21 716 716 716 716
L=45.1 17 17 17 17 6.5 6.5 6.5 6.5
L=288 18 18 18 18 522 522 522 52.2
L=552.3 18 19 18 19 162.6 162.6 162.6 162.6
L=1086.9 18 20 18 20 29.8 29.8 29.8 29.8
L=448 18 18 18 18 6.6 6.6 6.6 6.6
L=81 18 19 18 19 50.0 50.0 50.0 50.0
L=360 18 19 18 19 19.6 19.6 19.6 19.6
L=320 20 20 20 20 25.0 25.0 25.0 25.0
L=187.9 19 21 19 21 48.6 48.6 48.6 48.6
L=42.45 20 20 20 20 57 57 57 57
A=24,150 17 20 17 20 152.5 152.5 152.5 1525
17 21 17 21 283.7 283.7 283.7 283.7
8 17 21 17 21 114.8 114.8 114.8 114.8
1117.61 17 18 17 18 296.2 296.2 296.2 296.2
14.7ha 9 24 17 21 821.9 821.9 821.9 8219
2,322 2,322 2,322 0 2,3215]...
17 21 17 21 349 349 349 349
L=90 18 18 18 18 53 5.3 5.3 53
14.7ha 17 21 17 21 566.8 566.8 566.8 566.8
A =60 20 20 20 20 16.5 16.5 16.5 16.5
17 17 17 17 53 53 53 53
17 17 17 17 95 95 95 9.5
20 21 20 21 32 32 32 3.2
6415 6415 6415 0.0 641.5]...
| (A+B) 2,963.0
o
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/ 350,000 15 - 385000 21
/ 92,000 15 - 100,000 21
/ 620,000 15 = 650000 21
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